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∇× �E +
∂

∂t
�B = 0, %3&
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∂
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�Aµ − ∂µ∂.A = µ0jµ. %11&
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T4-��� � ��-���! `1�� �� *2(���- ���B� �)A�1� �� ,>e1 � �������8E � :J/ ����B� ��� ���
� � �� ���� ���� ϕ � ��+�-���! �� �'��� � ��4�� x������-�� P) ��� �� ���-��� ! � ����9

}}



�+ Aµ �� �� �'� T! *∂.A = 0 �� 2��'�� T4-��� � ��-���! *2-��'��� T4-��� � ��-���!
g2| T4-��� � ��-���! �� ��(E7+ �R�4- 7(� ���m� �� �ϕ = 0 � @�� � �����B� �� ��C
*k2 = 0 �9 �� �� 0/�- ϕ = aeik.x � 5��| �� ��/�� �� ϕ � 0_� � @�� � :C 5*2(���

�2�9�� �� ��� � 5��| �� $2-�� �1�� ���-���! � ����9 %14& � �����B� �� ���� ��

ε(k) → ε′(k) = ε(k) + ak. %16&

P) q� �� ��� ���� a � a��(� � ^�_4-� � � � ��� $��O4�� ��/�� ���-���! � ����9 ��� ��
�� 2��'�� %15& � �����B� $�'�9 *2/�� �O| � ���;� ,>e1 � �������8E � 3�O| � ��O��]�

�k.�ε = 0. %17&

���M �� �;�M�(Y���4J�� � @�� � ,>e1 � ����� ��/�� �� 0�� ��� {�C ��� � �(B�
�� *2/�� ���D 2+��� �� - �� b�� 4-� � 08� �� �9 � @�� � ����� � � �� ��� ^�_4-�
�m�D � ��h � ��+,>e1 � 0�� �m�D �;�M�(Y���4J�� � @���� � ,>e1 �=�� � 5��>D
��8� � ��R�4- ��� *2(4;+ ���];� � ���-���! � ����9 � ��l- �� ���E 2(4;�- ��<!$2+� �
��� *0�� �m�D � @�� ��- �� $2/ 3��B� �(B� �0�� $2��� 7+ ���R� � 2���]� �� �� 0��
�� - �� 0�� ��� ���A� ��� � {2+ *0�� 
��P� � ��R�4- 
� ��� 2�2�� �� ��M���+

*0�� ���1�� ��(E7+ #�;��� � ����l- � ,4-��� �� T! �R�4- ��� 7+2�

,�� "�- ;�3-
� �.��/ >


� �(B� *7(��� ����! �=(����/ � ��=�� �� #�;��� � ����l- � ���� $2�4-��� � ����
�=(����/ � �����B� 2B� � 2+2� �� %13& #�;��� � 0��C � �����B� �� 3����� �-�4���+

� ��-���! �� %13& � �����B� �� �9 �� ���� �� TI� *7(��� :C �� H |ψ〉 = i� ∂
∂t |ψ〉

�7(��� #��D� ��':�D � ��
�� 
� � 5��| �� �� �-���! ��� ��� $2�9 0�� �� T4-���

B�9%< ��� I.� � ���!�7� � [� ϕ %< )! �+ Aϕ ≡ Aµ + ∂µϕ 	9�5

∂.Aϕ = ∂.A + �ϕ = ∂.A

}�



∂.Â = 0. %18&

�� �� Âµ � �':�D #�� 2����� *0�� Aµ � 
��P� � ��2�� � ��l- � �':�D Âµ �9 �� ��
*7���;� 3�� � ,4-��� � b��

��� )%���* ��+

� ��� � �� %13& � 0 �� C � �� ��� B � � '� 3�$��� � � m� � �U� � �� �� A � �� � � �� M�� � +

� ��e��� �� �� Aµ(x) � ������ � ��+�O��]�

Aµ(�x) =
∫

d3k

(2π)3
εµ(�k)ei�k.�x, %19&

�2�9�� �� ��� � 5��| �� ����B� ��� �� 2�� ��/�� 67�;��(� 2-�/�� L��B�
(
∂2

t + ω2(�k)
)
εµ(�k) = 0, ω(�k) =

∣∣∣�k∣∣∣ %20&

�2�9�� 0�� �� ��� � ��e��� �� �� 0�� Aµ(�x) � ������ � ��O��]� εµ(�k) �� ��� ��

εµ(�k) =
∫
d3xAµ(�x)e−i�k.�x. %21&

�� 2�� ��/�� %21& � ��e��� � 
�� �� � 0�� Z�4_� � ��2�� 
� εµ(�k) � ��2��

ε∗µ(�k) = εµ(−�k). %22&

� 5��| �� b����+�� � �A�AC � ��+�O��]� � a;C �� �� εµ(�k, t) 7�-�����

εµ(�k) = εrµ(�k) + iεiµ(�k) %23&

�� *2((��� g2| %20& � 0��C � �����B� �� �O��] � �� �+ �� 0�� �8�2� � 7�(� �;��-���
�k � µ � a;E�� �� ε � ��2�� � ���+�� �� �A�AC � ��O��]� �+ � ���� %20& � �����B� ���M

� ���� *0�� ω(�k) � 2��;� �� $��� � j(+97+ � �'����- 
� � 0��C � �����B� 0���

B!�M��� Aµ(x) � %���� � ���).� � ��$�M�.\ � � %!�! %�>� � ��	' Ãµ(�k) � !��� �� εµ(�k) � ��� �' lQm )!6
0��� B�1

}�



a���� ��� �� *x = εrµ(�k) $2/ $��� � � k � µ
� � ���� �� 2�(�v�� [�m�� ��� � �2��
t2�9�� �� ��� � 5��| �� %20& � �����B�

ẍ+ ω2(�k)x = 0. %24&

� 2��;� �� $��� � j(+��+ � �'����- 
� � �-�4���+ �$�'0�� ��� � ��l- � �-�4���+T!
t0�� ω(�k)

H =
1
2
ẋ2 +

1
2
ω2(�k)x2

=
1
2
ω(�k)

(
a†a+ aa†

)
. %25&

��/ � L��B� �� 3��4/�- �(� � ��" � ��+�':�D � a;C�� �� �-�4���+ 3�� � ���;� ��
t0�� ��� � 5��| �� p = ẋ � �.���+ � x ���� � ��+�':�D � a;C��

a =

√
ω(�k)

2

(
x+

ip

ω(�k)

)
, a† =

√
ω(�k)

2

(
x− ip

ω(�k)

)
. %26&

� ��O��] � � ��l- ar
µ
†(�k) � ��" � �':�D � ar

µ(�k) � ��(� � �':�D 7�-����� a���� ���+ ��
�7�(� L��B� �� εµ(�k) � �A�AC � 0�;1 � 3�Gµ

εrµ(�k) =
1√

2ω(�k)

(
ar

µ(�k) + ar
µ
†(�k)
)
, %27&

*7���=� �l- �� εµ(�k) � ���+�� � 0�;1 � ���� 7+ �� �9 � ��� � �
��� 7�-���� %22& � ��e��� ��

ar
µ(�k) = ar

µ(−�k), ai
µ(�k) = −ai

µ(−�k). %28&

�0/�- �(� � ��" � ��+�':�D � a;C �� �� εµ(�k, t) ��/�� %23& � ��e��� � 
�� �� T!

εµ(�k) =
1√

2ω(�k)

(
aµ(�k) + aµ

†(−�k)
)
, %29&

��9 �� ��

aµ(�k) ≡ aµ
r (�k) + iaµ

i (�k), %30&

}�



t�� 2�� 2B� �

Âµ(�x) =
∫

d3k

(2π)3
εµ(�k)ei�k.�x

=
∫

d3k

(2π)3
1√

2ω(�k)

(
aµ(�k)ei�k.�x + aµ

†(�k)e−i�k.�x
)
. %31&

� ��+�':�D � �������� � ��e��� �� 0�� �9 7�+2� ?��! �9 �� 2��� �� ��8� � ,��!
*��� �2 � ! 2 �� � � -�'�E �� εµ(�k) � ���+�� � �A�AC � ��+0�;1 � � �l - � �� ( � � ��"

� �>� $��� � j(+97+ � �'����- � ����];� �� � ��4-��� � 
�-�J� �� 2�-���� �� ��M���+

� �>� � ��� �� ��/�� �� 2-�$2/ L��B� %26& � �����B� �� �� �(� � ��" � ��+�':�D
��-�J� � ��J� � ��+�':�D

[x, p] = i�, %32&

����9 0�� �� ��� � 5��| ��

[a, a] = 0, [a, a†] = 1, [a†, a†] = 0. %33&

7�;��(� b��l- � ��-�J� � εµ(�k) � ���� %32& � ��l- ��>� �24�� �� 7�(� �B� 0�� �J��

� ����];� � � %32& � � >� � 7��B � � �� *7 �+� ?�� ! ��� � ,�� ! � � �9 � 
�� � � 2B � �
�U� � `��� � U � 0���! �� �� ���� ���+0���� � 0;�- 0����� ��2(E T�M�(Y���4J��
�� �� εµ(�k) � ��l- � ��(� � ��" � ��+�':�D � �>� ���9 � ��� �� � ���� �� *3�$��� ��m��
�� %33& � �>� �� �4��� � 7��B� �� 7(��� �B� 7-��_� b��l- � ��-�J� � εµ(�k) � �>�
� �A�AC � 0�;1 � ��l- � ����9 � 5���� �� 7(��� ���� �24�� ��l(� ��� �� *7-�� s2C
��" ��+�':�D 7(� v�� �� 0�� �B�>M T! *2-�:A4;� �=��
� �� εµ(�k) � ���+��
���+�� � 0�;1 � � �l - � �� ( � � ��" ��+�':�D � � �A�AC � 0�;1 � � �l - �� ( � �
7(� v�� �� 0�� ^�" ���+�� � � �A�AC � 0�;1 � ���� �� ��(E7+ *2-�/ ������
2-���� *2-�/�� ������ 7+ �� ������ �(� � ��+�':�D � �� �� �� ��" � ��+�':�D
%33& �� � 3�8�� �� �� �9 P) B� �� ��" � �':�D 
� �� �(� � �':�D 
� � �������� � ��e���

�7(��� �w��� ��� � 5��| ��

}�



[
ar

µ(�k), ar
ν
†(�k′)
]

= (2π)3δ(�k − �k′)δµν , %34&

�9 �� ��

δµν =

{
1, µ = ν,

0, µ �= ν.
%35&

εµ(�k) � ���+�� � 0�;1 � ��l- � ��(� � ��" ��+�':�D � ���� 7+ �� �>� ��� � ��� �
�� �� aµ(�k) � ��(� � �':�D � ���� �� 0�� ��� �+{�C ��� � ��R�4- 7*3��'�� �l- ��
�l- �� �� ��� � �������� � Z��� � b��l- � ��" � �':�D � 3��� L��B� %30& � �����B�

�3��'��

[
aµ(�k), aν(�k′)

]
= 0, %36&[

aµ(�k), a†µ(�k′)
]

= (2π)3δ(�k − �k′)δµν , %37&[
a†µ(�k), a†ν(�k′)

]
= 0. %38&

�k � ��-�J� � µ � T�2-� �+ � Ǳ��� �� εµ(�k) �� �9 �� ���� �� � %25& � �����B� �� � 3�8�� ��
�7(��� ���B� ��� � 5��| �� �� �-�4���+ 0�� :A4;� � ����9 � ����� 
�

H =
∑

µ

∫
d3k

(2π)3
ω(�k)

2

[
a†µ(�k)aµ(�k) + aµ(�k)a†µ(�k)

]
. %39&

� � > � � �= ( ���� / � �� ��� B � � 
�� � � � � -� 4 � � � + � �� � � � � 0�� � ��" � � �� � �

��P� � @�� � �����B� �� Âµ(�x) � �':�D � �4/��7 E �� 2�+� �� - %38&�%36&

*2(��� g2| �

〈
Âµ

〉
= 0

�� X�>-��+ � ���~� �� Âµ(�x) � �':�D �(B� Âµ(x) � �':�D �� 0�� �9 �2B� � 321
�7�;��(�

Âµ(x) ≡ eiHtÂ(�x)e−iHt

=
∫

d3k

(2π)3
1√

2ω(�k)

(
aµ(�k)e−ik.x + aµ

†(�k)eik.x
)

%40&

hC"� �+��� �) %< ���' & ���.#��� f.�+�� � ���	/� � ����).� ���!)&�$ �' 	3� ��� �+ ��! ��$�.# 	
.��7
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*�Âµ = 0 �� 0�� �/�� *k0 = ω(�k) �9 �� ��
�� �� 0�� �9 ��2�� � ����l- � ��+^�4� � #��B� 7+2� ��m�� �� 0�� 3�V �� ��� ��
%s = 0, 1, 2, 3,& εs �9 �� �� 2((� $��O4�� as ≡ ε µ

s aµ � �':�D �� aµ � �':�D P) q� � ���
0�� �/�� ��� *0�� s � ,>e1 �� �-���� � ��(� � �':�D as � ���� 3�- ,>e1 � �������8E
aµ � a;C�� �� ���l- �� 3��� ����� ���A� ��� �� ��� 3��� $��O4�� �9 �� �U� �� 7+ �� ��
��� �� µ � L�4_� � ����A� �� $��/� �� �� ,>e1 � 3�8O� � 7;��(� b��l- � ��" � �':�D �

*7+�J� a�e� � 7RC �� ��2-� �� 2(��� 7J�� ��� 0�� #��B��- 2(E�+ b�� ��� *3�>�

,%�-�' ./�012 �32 ����-�4�  �+

7���� ��l4-� �� 0�� ��8� � ���90�� #�;��� � 
��P� � ����l- � �;4-��� � ������7+

� ����l- #�;��� � ����l- 7���� ��l4-� �� ���E 2/�� ���1�� 7+ ��4-��� � ����l- ��
$2/ �R�4- ,����9 �� �9 � �;4-��� � ������7+ �� 2/�� T�M�(Y���4J�� � �$2�2! � 0���

*0��
*���� ��$.�� � 0��+� ǱP" � 0��C � ��+���A� � ���B � ��4-��� � ����l- 
� ��
�� �F�-� � ��2A� ����7� �� 0�� $�'0�� � 0��C $.�� �9 L��B� � �>M �� ǱP" � 0��C
��� � 5��| �� �� %39& � �-�4���+ 7�-�� ��� %38&�%36& � �>� �� ���� � � *2/�� �4/��

�7�;��(�

H =
∑

µ

∫
d3k

(2π)3
ω(�k)

[
a†µ(�k)aµ(�k) +

1
2

]
. %41&

� ��e��� �� �� |0〉 � 0��C$.�� �� 0�� �/�� �� ��� ��

aµ(�k) |0〉 = 0, %42&

�0�� �F�-� � ��2A�$.�� ���4�� � ��l- 7�(��� L��B�

H |0〉 = E0 |0〉 , E0 =

[∑
µ

∫
d3k

(2π)3
ω(�k)

2

]
. %43&

0�� �9 �� 7�� ����� �� 8*0;�- �+�(4� �9 � �$��2-� �4>�� �� 2(��-�� ǱP" � �F�-� �� E0

��� ��� �� 7�-���� *7�(� �;� �-�4���+ �� �� �+�(4��- ��� 0��d � ��2A� ��� �24�� �� ��
0!)�! X	�1 	�����+ � �B���: �' �+ !.1�� 	R�� �	�Y:B�$�>� � !�!�&) �' �$������ � )��
� ��� ��3��8

�U



�� ��� � 5��| �� �� �-�4���+ %41& � ��� �� T! *2+���- ����Y� �� $�'0�� � 
���(��
�7���'�� �l-

H =
∑

µ

∫
d3k

(2π)3
ω(�k)a†µ(�k)aµ(�k). %44&

�0�� �����- T4-��� � :�2>� � 0
� ǱP" � 0��C$.�� �� 0�� ��� �� v��

U(Λ) |0〉 = |0〉 , %45&

*0�� xµ → x′µ = Λµ
νx

ν � 5�~4_� � T4-��� � :�2>� � ��l- � �':�D U(Λ) �9 �� ��
�2(��� :�D ��� � 5��| �� Âµ(x) � �'�>-��+ � �':�D �� �':�D ���

U(Λ)Âµ(x)U(Λ)−1 = Λ ν
µ Âν(Λ−1.x), %46&

�� 2�� ��/�� %40& � %46& �� $��O4�� �� *2+��� �� Λ � :�2>� � ����� Λ−1 �9 �� ��

U(Λ)aµ(�k)U(Λ)−1 =

√
ω(�kΛ)

ω(�k)
Λ ν

µ aν(�kΛ), %47&

� �� � � �� � 9*2+��� �� - �� kΛ ≡ Λ.k � ���� ��� 8E � ����� � � 0�; 1 �kΛ �9 �� � �
�'� �� ��/�� 3��B� %47& � �����B� �� *2�9�� 0�� �� 7+ ��" � �':�D � ���� �e���

�� �� µ � ,>e1 � �k � @�� � ����� �� �-���� � 0��C$.��
∣∣∣�k, µ〉 ≡

√
2ω(�k)a†µ(�k) |0〉 , %48&

$�' �9 7�(� L��B�

U(Λ)
∣∣∣�k, µ〉 = Λ ν

µ

∣∣∣�kΛ, ν
〉
, %49&

� b�.� ���H
`���D ;)C+ 0�� ).
)< �����' �+ ���� �' ��� ���� ���
� ��� � ���".� )! !).� ��� )! TA'
�� 	>' �!C�� � @.� � �B)�n$ )! �+ B!	+ ���'U�: N����o� � ����!� � ��$%����! � ��D.�R� )! ).�>�
���Z ��< �+ ���+ ��)	' �+ ��� ].# 0!	+ �$�.# B!�M��� �$���:�o� )! %�	>�: � �&	�� � %�.�D �' ǱC# � �q	��

0�� �� !)�! �)�9��� *�����!.�	
 � ����.4 �' ���)&<��
b��).� � XC��3
 � �A
 d3k/ω(�k) � %���� �+ ���+ ��.
 �+ ��� ���+ r���� ��� � %!)&< ��! �' � ��	'9

��7� -��� �!)&��

d3k

ω(�k)
=

d3kΛ

ω(�kΛ)
.

�f



� %34& � v�� � �4��� 7�-����� �� 7��$2��� ���eA- �� V�C *0�� �� � ��l4-� � ���e� ��
�� *7�(��� ^�;C ��

〈
�k, µ|�k′, ν

〉
� 0��� ��� ��� � ���� *7�R(;� �� %37& � �>� �9 � `>� ��

�� ��/�� 3��B� %38&�%36& � �>� � %48& � L��B� �� ����
〈
�k, µ
∣∣�k′, ν〉 = 2ω(�k)(2π)3δ(�k − �k′)δµν . %50&

� 5��>D �� 0�� �9 ,��" � 0�;1 *2� � 0�;1 
� � ���� ^�" � 0�;1 
� �R�4- ���
*0�� ����� - T4 -�� � � 5P�2 > � � 0
� V� � � ���; � � 0��� � 0�� �� ω(�k)δ(�k − �k′)

%49& � :�2>� �� ��� � 0;�- �����- T4-��� � 5P�2>� � 0
� δµν �� 0�� �9 b2� � 0�;1
�7�(� nP|� 5��| ��� �� �� %37& � �>� 2��� :J � ��� � `�� � ���� *2-��"��-

[
aµ(�k), a†ν(�k′)

]
= −(2π)3δ(�k − �k′)ηµν . %51&

�0/�� 7�+��" %50& � ��� �� a���� ��� ��

〈
�k, µ
∣∣�k′, ν〉 = −2ω(�k)(2π)3δ(�k − �k′)ηµν . %52&

*ηµν = Λ α
µ Λ β

ν ηαβ �� ���E 0�� ��'��� %49& �� ��

51� +�+

$��� ���4"� η = (+,−,−,−) � 5��| �� �� �J;��J(�� � 
��4� �� �� �9 �� ���� ��
���+ 2�2� � �>� ��� µ = 1, 2, 3 � ���� �(B� ���K� � ��+,>e1 � ���� �� 7�(���� 3���
*0�� $��� 5��O� :>1 � � %�& � 0�PD 
� �>� ��� µ = 0 � ���� ��� 0�� %37& � �>�
�� �� ��� 7��$��� :C �� ���e- � �;4-��� � �������- � :J � �� 2�2� � v�� ��� �� 2(E�+
��/�� $2�� %52& � �����B� �� �� ��M���+ �� �9 #�� *7��/�� ����� � 2�2� � :J �

� ��l- � 0��C$.�� �(B� ��� �� *0�� �O(� µ = 0 � ,>e1 �� �-���� � ��l- � 0��C$.�� � 3�-G

� ���� �� 2�(� ���� �:J � ����� � �2�� � ���� *0�� �>/ � 0��C 
� µ = 0 � ,>e1
7�/�� �4/�� �(B� �2(/�� �F�-�7+

∣∣∣�k, µ〉 � ��+0��C$.�� ��(E7+ �� �9
H
∣∣∣�k, µ〉 = ω(�k)

∣∣∣�k, µ〉 , %53&

�u
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H =
∫

d3k

(2π)3
ω(�k)

[
3∑

µ=1

a†µ(�k)aµ(�k) − a
†
0(�k)a0(�k)

]
. %54&

� �>� �m�� ��(E[
H, aµ(�k)

]
= −ω(�k)aµ(�k),[

H, a
†
µ(�k)
]

= ω(�k)a†µ(�k),
µ = 0, · · · , 3, %55&

� �':�D � �4"�� � ���� ��:� %53& � ����9 0�� �� � ���� �8(� �- �� ������ $�=- ���1�� ��
� 0;�- 0>q� � �':�D 
� �-�4���+ a���� ��� �� ��� *0�� ����m 7+ %40& � �'�>-��+

� �F�-� �� ���+0��C$.�� 2/�� ��,�� µ = 0 � ,>e1 �� � ��+2� � �'�4_�=-��� �E�+
*0;�- ��2��! �J���� � $�'0�� a���� ��� �� � 2�9�� 0�� �� ���7�

#�;��� � ����l- �� �� ��E 2�9��- ,�! :�D �� :J � ��� 2�� 7�+��" �� ��M���+

� ��-���! �� 5�>��
� ��� � ���+ �� 2������ ��� �� ��(E7+ *2(4;�- ��<!$2+� � n�>/�
*7��$��J- #��D� �� �9 ��(+ �� ��� 0�� $2/ 3�R-� T4-���

�-6 �� ��32� 7�+

?�� ! ,�� ! ��� � � 0�� � �� � 7 ����� I � T4 -�� � � �� -�� � ! � �� ��;� � � �� �9 �� ,� !
�� 0�� �m�D � ��h ��/� ,>e1 �� ���+����� �� ��� �� - ��/�� �-�'�E �� 7+2�

*2-�/��- 2���� �J���� � ��+2(�9��

� ��(��� 7�+��_� �� 2�(�v�� 5�>��
� � �'$��� � ���� �)��| � ��l(� ��� � ����
� � � J �� � � � 2 ( �9� � 
 � �� �� �k � �� -� J � � µ � , > e 1 � � � -� �� � � 2 � �� � � #� � 4 C�

� �-���! � 0��C �� |i〉 � ������ � 0��C �� ��<' � ��(��� 2��� ��l(� ��� �� *7���9 0��
�J��4J�� � ��+��� � ,���9 � ��l- |f〉 � |i〉 �9 �� �� 7�(� ����� ��

∣∣∣�k, µ; f
〉
≡
∣∣∣�k, µ〉 |f〉

*2(4;+ ,(�7+�� � ����! � ��h9 ��
�� 
���(����4J�� �� ,(�7+�� � �����

B!�! � ǱC# � �q	�� � )��
� [,1 ��� �' ��.����$ � hC"� �' �+ ���+ ��.
 �$ ��,� ��� �' �+ ��� ].#10
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Sint = q

∫
d4xA(x).j(x), %56&

11*0�� �J��4J�� � ����� � �������8E jµ � $�6 � �J��4J�� � ��� q �9 �� �� ��/�� $���
�� #�� � a��A� �� ��<' � ��(���

Mµ(�k) ≡
〈
�k, µ; f

∣∣Ŝint

∣∣i〉 %57&

�� ��/�� 3��B� %51& � %40& � ��+����B� �� *��/�� $���

Mµ(�k) =
∫
d4xeik.x

〈
f
∣∣ĵµ(x)

∣∣i〉 , k0 = ω(�k), %58&

*aµ |i〉 = 0 �� 3�$��� $��O4�� �4J- ��� �� �9 � ����9 0�� �� �� ��

� �� � �� 7� -���� *7(� ���9�� � �� ���4J- 2�� � 3���� � �� �2B� � 321 �� �9 �� ,�!
∂.j = 0 � ���;� �� �� [�m�� ��� 
��P� � ����l- �� � 0�� ����A� �4��� �J��4J��
�� �J��4J�� � ��� � ��A� #�;��� � 5V��B� 
��P� � ����l- �� �� 7�2�� *7�+��� �� -
�� 2��� � ������ � 0�� ���R� � �$2+� � 
� �J��4J�� � ��� � ��A� ��� *2((��� �m�A�
�� �-�4_�b�" *∂.ĵ = 0 �� ��� �� - �� � 2��� �(B� *2/�� ���1�� 7+ ��4-��� � ����l-
�� �� 12*��/�� 5�>d� ��':�D � ��
�� ��� � ����1�� ��4-��� � 
���(����4J�� � ����l-

*3��'�� ��� �� �� �9 �8(� � 3��9��- �� 5�>d� ��� ���A� ���
�� ��/�� 3��B� %58& � �����B� �� $�'�9 ∂.ĵ = 0 �� 7�(�v�� �'�

kµMµ(�k) = 0, k0 = ω(�k). %59&

�� �� � Z��� ��� ��4;_- �9 � ���24�� � :J/ �� ���E 2(��'�� ��� �� � ��
�� ���;� ��� ��
13*2/ 5�>d� ��� ��#�J���� � ���R� � ��4����� �� ��e� 2(E � ����- 
� � a��h

0��<�� ��! �' b��).� � �&	�� � %.��4 U�+�$	' ��� �� ��$! %�>� �+ ��� ].#11

���Z �' 0������ )�	4	' %��Z�$ U���.+ �� b: �E�&n� *��C+ � ��
' � ����.4 ��+ � ).i �' �+ ���+ ��.
12
� ���	/� � U���.+ )! 	9� 0�� � � 3 ' �) lum � ?�	� � � Qv � [t� 0�� �.9�� danomalye �)�R�$� � �!�!w)
� )�' � ��
' �+ %< �' ��.
 �' -��<�� ��! �' �,�	�,�� � )�' � ��
' )! �)�R�$�� *� �����.+ � *�����!&	�,��
� *�����!&	�,�� � ���	/� �+ ����	9�� �R��� B�9%< -��� B�1 ���	�Y: CE ��+ �$�9U����< � 	/� �� �,�	�,��

0��� �i.'	��� � ���	/� ��. ' 	
�' �� ���� �'.# � ���	/� �����.+
� ���!�7� )! �+ �)�Z ��� �,�	�,�� � )�' � ��
' � %.��4 �� �	
^�7W � [,1 !)x �& � !�A
� �+ ���+ ��.
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� � ��4��� �� �� � ����];� � ����� �� 2�(�v�� �'$��� � ���� ��� � ����� ��
�R�4- %59& �� ���<'��� �� *kµ = (k, 0, 0, k) �� 7�(� v�� �(B� 0�� $2/ � 4(� z

���];� ��� �� �� ��/��

M0 = M3. %60&

� ��e��� �� :� � #��4C� ��� *7�(� �>��
� �� ����� 
� � 2���� � :� � #��4C� 2����� V�C
�� 0�� 3��B� %60& � ���;� �� ���� �� *��/�� $��� −ηµνM

µM∗ν

− ηµνM
µM∗ν = |M1|2 + |M2|2 . %61&

� %µ = 3 � ��l-& ���M � ����� 
� � 2���� � #��4C� � [��R� �� 0�� �(B� ��� �� �R�4- ���
�J���� � 2(�9�� 
� �� �=�� � 5��>D �� *0�� �O| %µ = 0 � ��l-& ���J�� � ����� 
�
�� � 0�� �m�D � ��+����� � 2���� � #��4C� � [��R� �� � ����� ����� 
� � 2���� � #��4C�

*2-�/��- 2���� �m�D � ��h � ��+����� �2(�9�� ��(E �� �R�4-

,%�-�' 
������ 8�+

� ��e��� � ����1�� � ��(B� �� T4-��� � ��-���! 74O' ,_� ��� � ��24�� �� �� ��M���+
14�7�(���v�� �� �(B� ��� �� x0�� ∂.Â = 0 � ��':�D
〈
ψ
∣∣∂.Â∣∣ψ〉 = 0. %62&

� ��m�A� �� S�/ ��� �� 0�� �/��

∂.Â+ |ψ〉 = 0, %63&

$2/ �4"�� �(� � ��+�':�D �� �� 0�� Â � �':�D �� ���J� Â+ �9 �� �� ��/�� $���9��

� �':�D 
� ∂.Â+ � �':�D ��E �� 7�(��� ���� %63& � �����B� � :C � ���� *0��
���� ,���- ��� � 5��| �� �� $�'0�� � 0��C �+ ��/�� 0�� �e"

� ���	/� )! �,�	�,�� � )�' � ��
' d56e � ���!�7� �' ��.
 �' 0!.1�� @�R�� �ϕ = 0 � ��	' A → A′ = A + ∂ϕ

0��� ��	/� ��� )! �������: � �!��< � zM� � �)��$ �����.+
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|ψ〉 ≡ |ψT〉 |φ〉 , %64&

*0�� �m�D � ��h � ��+����� � ��l- 7+ |φ〉 � �m�D � ��+����� � ��l- |ψT〉 �9 �� ��
�� 2(��� �m�A� ��� ���<'��- |ψT〉 �� �2�1 %63& � S�/ �� 0�� �/��

∂.Â+ |φ〉 = 0. %65&

� �� -� J � � ���� ��� 8 E � � � � -� �� � � ��� � P) q � � � 0 �� ' � R � 4 - �� /� � � �� �� ��
�kµ = (k, 0, 0, k)

[
a0(�k) − a3(�k)

]
|φ〉 = 0. %66&

� �2�� � ���� 15*2(���- ���B� �4J� � ��M �� �� |φ〉� 0��C S�/ ��� 7�(�>� �� 0�� a���
�� �� �m�D � � �h � �� �� � n � � �l - � 0��C � ��� (D � � �� |φn〉 � 0��C �24 �� � 4J - ���

� b���/ � �':�D �� 0�� 3��B� %51& � �>� �� *7(��� L��B� 2-�/�� � 4(� z � ��4���
16���/�� $��� ��� � ��e��� �� �+����� ���

N =
∫

dk

(2π)

[
a
†
3(k)a3(k) − a

†
0(k)a0(k)

]
, %67&

�� ��/�� 3��B� %66& ��

n
〈
φn

∣∣φn

〉
= 0. %68&

�(B�

〈
φn

∣∣φn

〉
= 0, n �= 0 %69&

�2-����� |φ〉 � Z;� � ���� :��� � ����! 
� �+ |φn〉

|φ〉 = C0 |φ0〉 +
∑
n�=0

Cn |φn〉 , %70&

� 3��� ����4- ��� *
〈
φ
∣∣φ〉 = |C0|2 �� 0�� 3��B� %69& � ��e��� �� *|φ0〉 ≡ |0〉 �9 �� ��

2(���- ���B� �� Cn � aw��m 2�1 ��� �(B� *��/�� �R�4- %66& � 2�1 �� �� 0�� ���E �9
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�� 2�� ��/��
〈
ψ
∣∣H∣∣ψ〉〈
ψ
∣∣ψ〉 =

〈
ψT

∣∣ ∫ dk
(2π)ω(�k)

[
a
†
1(�k)a1(�k) + a

†
2(�k)a2(�k)

] ∣∣ψT

〉
〈
ψT

∣∣ψT

〉 . %71&
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��u� 2�+��� - �� 7(��� ��8-,�! ����! ��
〈
ψ
∣∣Âµ

∣∣ψ〉 = ∂µϕ, %72&
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